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MATH 9
Module2
Patterns and Equations
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2.2 Evaluating Expressions
Practice

Variable
* aletter that

1. Name the variable in cach expression.

a)5a-8 b) 7c -3 represents a
1

EI e A— Q-5
1

e —k-01 0 62 +1

2. Complete the table.

Expression Variable(s) Constant(s)

a) —2c+10

b) a+32-6

o ¥-1y2-3

d) xy + 425 + 05,
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2. Evaluate each expression for a =2.5,b=~3.5,and ¢ = 5.5.

a) a+2b—3c b)ua-b+c
_ rax _3x Substitute>
¥ ~— ~—
- -
_
3. Simplify.

a) 7x+ 10+ 7y —4x +
=7x—4x+7y+10+1
S~ =

B 2a-3b-5+a—b o 4g-g—9r+2r+1

=L e+l dy+
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4. Complete the table.

Written Sentence Equation J

a) Sixmore than a number is nineteen. x+ =

b) Eight more than a number is twenty.

L] 6x=72

d) A number divided by nine is thirty-six.

e) 2x—-6=4
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5. Write an equation for each statement.
a) Hadib is eight years older than Cam. The sum of their ages is twenty-four.
Let ¢ = Cam'’s age

Then, ¢ + = Habib’s age f@
Cam's age + Habib's age = ___

c+e+l =

c+ =

b) Sonja has ten dollars less than Paula. Together they have ninety dollars.
Letp=

Then, p — =
Paula’s amount + Sonja’s amount=______
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©) Carl has three times as many stamps as Tim. Together they have 2400 stamps.

Lett=
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6. Write an equation that could be used to find the length of the sides of each figure.
a) Perimeter is 64 m.
Sum of all sides = Perimeter

X x+x+1+x+3=64

x+ =64

b) Perimeter is 64 m.
x+2
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7. Solve.

2.

Example: Solvex +8

x+8= -2 OR x+8.+(E8)- -2+ E9)

x=-10
a) y+7=12 b) x+1=-2 Q 3+2z=7
d)n—-9=4 e r—3=9 f) 2=—4+s
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8. Solve.
Example: Solve 6x = 54. b) 5m =140

Divide
both sides,
by

¢ 3n=-21 d) —12=6x @ei 5p=3.0 f) 7s=-28

9. Solve.

Example: Solve § =10.

Multiply x X -[@x10
bﬁhslfi E 9 [Il

x

2

X
.

g
53
[
|
IS
o
Wl
[
|
@
&
Al
I
N
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10. Solve.

Example: Solve  +2=9

Add ~2t0
X 40=9 both sides.
\dd —2 to 6
both sides. Multiply both.
sides by 3.

Multiply both
sides by 6.
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11. Solve and check.

Example: Solve 3x — 8 =10

3x—8=10
dd +8 to -
_EE-GE
3x=18
Divide both =1
.
x=6
b) 3y +2=17 o -1=7y -8

Divide
both sides;

by2
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12. Solve.

@ a) 2x+31=11 b) 5y +11=56 o) 03x+26=44
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3. State the number of terms in each expression.

(Bample | Mimber of tertn>> <Namber of terg’
Example: ” Tk cFieine
7s’—2t+Z a) 22+ 3b JE— b) 7s+9t-5
1 .
Bt DR L a— Q) 6kl + 1lmn

memm?nmns.dA o) 125 6 +y-2+7

4. State the coefficient of each variable in each expression.

—

751—Zt+:1; a)2a+3 b) 75+ 9t =5

o 1-5c+ %df a) 6K + 1imn

The coefficients are

7 and =2. (‘5 e) 12s

) 6x+y—2+7.
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b) 4x + 5x=-81 o 6a—3a=15
~

e) 6x—4x=6-10 f) 6x+x=7+7
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14. Solve and check.

a) 5/ —2j=4+2
~ ~

15.=5/-2 RS.=4+2

15. Expand.
a) 4y - 4) b) 3y +7)
Frma
=40) - 40)

= y-—

b) 2r+7r=-2+11

© 52y —1)

d) 6(3x — 4)
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16. Solve and check.

a) 20y —3)=4
Ry—3=1
y-—=4

Add 6 to

each side,
Divide each.
side by 2.

Does LS. =RS.7

b) 6(x —2)=0
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o 52y —1)=-5

A 4j+1)=—4
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17. Solve.

x x 7
Example: Solve 5 + 5 = 1o.
lco=10 x I _fgx L
Leo=100a0x £ +[10] x 5 =[10] x {5
2x+5x=7

X wl
+ olo

N

1
x
ala

y+

Join ke terme, >

=T E e wie
P
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18. Carl is 4 years older than three times John’s age. Carl is 19 years old.
Solve the equation 3j + 4 =19 to find John's age.

Sentence:
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Chapter Check
1. Evaluate each of the following for a =2,b =3 and ¢ = 4.
a) ab +ac b) ab+bc—ca
=@x3)+@2x4)
e G
=
2. Join like terms and simplify.
a) 3x—2y—3x+3y—2 b)22-3c+10+4a+b—7c—5
=3r-3x-2y+3y-2

B B P S
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3. Write an equation for each of the following.

2) Mandy’s age increased by five is twenty-two. m+
b) Daniels’ age multiplied by six is seventy-two.

<) Burtis four years older than Anna. The sum of their ages is 36.
Let a = Anna's age.

Then a + = Burt’s age.

:\ Anna's age + Burt's age =

a+ =

4. Solve and check.
¢ x-10=-19
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Beais>

b) 4x=44

b) 5x+2=-3

X7
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5. Evaluate 5x for each value of x.

a) 2 b) -5 90 d) -4
5%
=5x2

= Caloey
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9y +10=-6-2 d) 8x +04=36

9y +10=

7. Expand.
a) 32x - 4) b) 63y + 1) o 5(5a —2)

<~
3(2x - 4)

= x—
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8. Solve.
a) 3(x—3)=6 b) 32x-1)=9
<~
3(x-3)=6
I -E)( )=6
3x—__=6

Divide’
by 3,
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9. Solve.

y=

10. Raymond spends three hours less than Susan watching television on the weekend.
Together they watch 9 hours of television. Solve the equation 2s — 3 = 9 to find
how many hours of television Susan watches.

Sentence:
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. Evaluate 3y + 1 for each value of y.

a
)gyﬂ b)l
=(@x0)+1
= +1 Mutsiply >
—

. Evaluate 2z — 1 for each value of z.
a) -1 b) 2

. Evaluate for x = =2,
a) x+3 b) 3x+2

[+ Guvermre>

o5

o -5

d2x—-6

d -3

d) 10

d) 8-2x
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9. Evaluateforx=2,y=3,andz=—4.
a) x+y+z b) xyz Q x+2z

= + +
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10. Evaluate for a = 1.5 and b = 2.5.
a)a+b b) ab = 0.75 o 52-3b

=[]+

d) 1.2a + 3.2b e) 24b—a f) ab—2b
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Problems and Applications ok

11. In a basketball game, a team scored 7x + 4y + 5z points. In this expression,
x is the value of a 3-point field goal, y is the value of a 2-point field goal,
and z is the value of a 1-point free-throw. How many points did the team
score?

Sentence:
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2.3 Like Terms
Practice
1. Simplify.

a) dx+5c= x B Ut—t=_ o -10b+3b=

& -2y-y=— o Um+lm=—___ f 15p-9p=
2. Simplify.
a) br+dr—r=|_|r b) 2+3t—t=

O p-p—bp=— d) 1la-100 - 5a=

o Sy-2y+9y=_ H -85 -94+10g=
3. Simplify.
a) 3t+5-2t b) 2 —5r—7
=3 -2+5

\/ [ +s

o 2a-b+3a d) —dx+y-6x ) 8y —2z+7y
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4. Simplify.

a) Sc+d—2—d b) p-q+p-2q
=5c—2%+d—d
d) 8a—2b—6a—3b &) —r+s+2r—2s
5. Simplify.

a) 5r+10+5y—3x+1

=5x — 3x + +10+1
/@ (RN
N =L Jx+ldy+

¢ 11—-3z+9x—-8-6z

o 3j+k-5-2%k

b)3a-4b—-5+a-b

d) 7c — 4w — 9w — 3¢ - 8x
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6. Simplify.
Q) 3p+57—p+9r—q-8r+1 b) bc—a-5-b-3c+8

Problems and Applications
7. Simplify, then evaluate.
a) 2a + 8z, whena=2 b) 7t — 3t, whent=3
=22+ 8a

Join ke terme,
= a

= X2 < Bubstitute

-

¢) 3 +4x —2x,whenx=5 d) -5p—3p+1-6 whenp=-1
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8. Write an expression for each perimeter in 2 different ways.

Perimeter (2 Example:
© the total Perimeter =a+a+b z
{ distance around a a 2a4b different,
P afigure. = ways.

5 b
X
a)
m

b)
:}Z
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2.4 Writing Equations

Practice

1. Match each sentence with the correct equation.

a) Three times a number is equal to eighteen. x—4=10
b) Anumber decreased by six is four. _ x=18

© Kim's age in four years will be eighteen. - % =18

d) Shuji's age four years ago was ten. _ y-6=4
e) Anumber divided by four is eighteen. _ x+4=18
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2. Write an equation for each sentence.

a) Four times a number is twenty.
b) A number divided by two equals five.

) Six more than a number is fifteen.

d) Anumber increased by five is twelve.

) Anumber decreased by six is ten.

) Four less than a number is seven.

8) The square of a number is twenty five.
h) Ten decreased by a number is two.

1) Anumber multiplied by three is nine.

j) A number divided by five is ten.

k) Anumber decreased by six is negative eight.

4an
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Problems and Applications
3. Write an equation for each statement below.

a) There are 16 more white keys than black keys on a piano. There are 88 keys
altogether on the piano.

Let b represent the number of black keys.
Then, the number of white keys is b +

Black keys + white keys =
b+b+ =

Equation: b+16 =

b) Brad has $12 more than Pietro. Together they have $84.

Let p represent

Then, the amount Brad has is p +

Amount Brad has + amount Pietro has =84
N N

+ =84

Equation:
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o) Mike is seven years older than Carol. The sum of their ages is 29.

Let c represent

Then, Mike's age is
Carol's age + Mike’s age =

=29

+

Equation:
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4. The perimeter of each rectangle is 36 cm. Write an equation to find the dimensions of
each rectangle.

=" Perimeter = sum of all sides
* x+x+(E+6)+(x+6)= EJoln ke terma>

Equation:

dd the 4 eides
‘together.

2x+3

Equation:
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2.5 Solving Equations

Practice

1. Solve by inspection.

Find the value of x.

B s o risicerisanioes

a) x+3=7 b) x+4=10 ¢ x+5=5 d) x+5=13
i

@) 2+m=9 Hn+1=6 g p+i=3 R 7+s=4
m= p=

i y+8=4 P z+8=12 K 7+5=0 D x+3=0
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2. Solve by inspection.

a) x—3=7
Gusas ;7 >
Substitute Calculate Does
forx x=3. x=3=72
x=8 Too small.
x=13 13-3=
So,x=
b)z-1=6
Guess
Substitute Calculate
forz z—-1
So,z=
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o x-5
Guess Check

So,

dn+5=-2 e x+7=2
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3. Is the number in brackets the correct solution to the equation?
a) x+7=10 ®) b) x-5=12 (-5)

CHECK:

RS, =10

Does LS. = RS.7

Is 3 the correct solution? ___ Is —5 the correct solution?
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o 3x=-18 (-6) d) 5x=20 (-4)
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e 2x+1=7 (=3) f) 10=-2+3x @
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4. Solve by systematic trial.

a) 6x+1=25 b) 9x +4=49
Guess Check Guess Check
Substitute| Calculate Does
forx 6x +1. |6x+1=25?
(6x2) +1
x=2 - 1 Too small.
x=

So,x= So,
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Problems and Applications

5. Solve by inspection.

a) x+25=35
Substitute| Calculate Does
forx x + 25

x=05

05+25=

Too small.

b) t-43=17
Substitute | Calculate ! Does
fort t—4.3. t—43=177

t=5 5-43=

]

So,

) 66—m

=26

So,m [:l

d) 2x=48
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6. Solve the equation 9w = 36 to find the width of the rectangle.
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7. Point Pelee National Park has an area of 15 km? which is 7 km? less than the area of
Prince Edward Island National Park. Solve the equation x — 7 = 15 to find the area of
Prince Edward Island National Park.

Sentence:
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8. The difference between a number and six is nine. To find the number, solve the equation
n-6=9.

Sentence:

9. Write an equation that can be solved by inspection and has a solution of x = 4. Have a
classmate solve your equation.
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2.6 Using Addition to Solve Equations

x

Algebra Tiles

—x

1

—
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Practice
1. Write the equations shown by the algebra tiles.

Examples:

a)

o NN -EEEEE 2

) I EEE-0000

e)

- EEEEE
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8)

O
— R
-1

h)





image33.png
2. Solve using algebra tiles.

Example: Solve x — 3 = 2, using algebra tiles.
-
A w——

-IEEE

a) x-2=1 b) x+2=4
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3. What number would you add to both sides to solve each equation?

a) x—3=11 _#3 b x-1=5 O n-7=-8
4 -8=m-4___ e 3=y-10 Hz-5=-11__
g x+6=13 =6 R 8=x+1 ___ D y+2=-7

P omes5=-5 KWx+3=9 D -10=7+z
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4. Solve. {_N"Vﬂ-\b
Use algebra tiles

to help you.
Example: Solvex +6=9. paN g
x+6=9 OEEEH -+ 6 +[=6)]=9 +[=6)

=6

6

a)m-8=3 b) m—5=—4 dp-7=3
A
P work!
d) t—8=10 e s+5=-3 ) y—-5=-8
@ d-7=-7 h —2+x=13 ) 24+x=—-4

AddZ
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5. Solve.

Example: Solve -8=x—2.

-8=x-2 Method 2: JIEEEEE)
x-2=-g  CRowits> x—2=-8

Add 2 to x—-2+@=-8+@
each side.,

x==6

=
2 2=n-3 b) -3=5+5 9 7=x-5 >

Ao =

¥ cRas>

d -11=t-1 e 13=-2+x ) 9=-4+m
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Problems and Applications

6. Solve and check.
a) x+15=35 b) m-32=48 o t—-14=46
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d) 03+m=13 e) t+37=64 f) x+57=-71
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g) 57=r+36 h) 103=x-54 i) 5=m—37
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7. Circle the equation that represents the problem. Then, solve it.

a) Three more than a number, x, is eight. What is the number?

() x-3=8 (i) x+8=3 (i) x+3=8 (iv) x-8=3

Sentence:

b) How many boxes are left to unload if there are 20 boxes in the shipment and 8 boxes
have been unloaded?

@) x+8=20 (i) x+20=8 (iii) x —8=20 (iv) x—20=8

Sentence:
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2.7 Using Division and Multiplication to Solve Equations

Practice

1. Write the equation shown by the tiles.

O

v Bl

2. Solve using algebra tiles.

Example: Solve 3x = —6.

There is % xetile. To get 1 x-tile,
multiply both sides by 2.
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O

b [ e

o W =-00





image43.png
3. By what number would you divide both sides to solve each equation?
e by?

a) bx=12 b) 2x=-8 ) 7z=-14

d 11r=22 e) 6n=-18 ___ ) 8y=64
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4. By what number would you multiply both sides to solve each equation?

x x
a) 3= L — —_— < 7= L
m x
d) 5= -6 J— £) 5= o
E x_ n Lo
B 5=t — DTS Jp— DI - —
5. Solve.
a) 3x=15 b) 2y=-12 ¢ —8x=16
Aokl Diide both
o\ 3x_15 aldes by the —8x_16
work@® 3] 3] C_ same number. B8l =8
x= x=

e) —6t=—24 f) 22=24
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g 12=3s h) —25=5 i) -21=27x
3s=12

35 _ 12 Divide both
= sides by the
same number,

j) 5x=0 k) —6y=—60 ) -m=16
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% o g: 7
y ‘Multiply both
2] x £ =[2] x (—4) sides by the
2 same number,
Y=
P ¥ x
a —4=L£ 2= X
) 3 e —2=¢ 8=3
r
Lo
Multiply both
]x £ =[x (-4 aides by the
3 same number.
P
b
8 3=-5 h) == -9 [ —
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7. Solve.

a)

X
w R|w F|m
I

X4

sides by the
variale,

Divide both
sides by the
same nurmber.

o —=4
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8. Solve and check.

a) 2x=84
i

b) 3m =63
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Problems and Applications
9. a) Circle the equation that represents the problem.

Six dollars is to be divided equally among three peaple. How much money does each
person receive?

i) 3x=6 i) 6x=3 iii) =6 iv)

wln

EYEY
1
o

b) Solve the equation that you circled.

Sentence: Each person receives :I .

10. The mass of a white-tailed deer is 1.4 times the mass of a cougar. A white-tailed
deer’s mass is 98 kg. To find the mass of a cougar, solve the equation 1.4x = 98.

a

Sentence:
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2.10 Solving Equations Using More Than One Step

Practice
1. Simplify.
a) 31:11\+/1 b) 5n+2n=-14 o 4x +2x=-18
3= CHad ke terme,

3x
=== ( Diide both sides by
‘the same numl

x=___

d) 6n+3n=-18 e 3y —5y=4 H5+11=4y
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2. Solve and check.

2 o442
3N
3
x Multiply both sid
- R
x=

CHECK:
RS.=4+2

x
3
O =
3

Does LS. = R.S. ?E/

SIS
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CHECK:

%
&
5
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3. Solve and check.

Example: Solve % +7=11

F+7=11
Add the samé
=7=E7] number to both
T, sides.
5=
M Multiply both
2] x 4 § sides by the same’
number.

Multiply both
sides by 3,

1
X





image54.png




image55.png
Q)

N<

+5=9

CHECK:

d)

wix

+3=5
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4. Solve and check.

a) 4+7t=11
e

‘Add like:

¢ x+22=-5-1

CHECK:

b) 6s +25 +s=18

d3y=10-4-3

CHECK:
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5. Solve and check.

a) 3t+4=10 b) 8x+1=9

3t+4=10
SAdd =4 to both sldes. @
3t _6

TS =3t+4 RS =10

+4

4

Does LS. = R.S. 'E/
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6. Solve and check.
a) 2t —4=-12 b) 3y +8=-1 o by-7=4+1




image59.png
7. Solve and check.
a) 3x+x+1=5 b) 25+3s-5=8+2

CHECK: CHECK:

4 S

a) 2x+14=78 b) 5t—-21=19 o 0.7m—3.6=34

2x+14=78
< =14=|=14

2x
2x
2

x=
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Problems and Applications

9. Pierre Trudeau was Prime Minister of Canada for 15 years. This was 3 years longer than
twice the number of years that John Diefenbaker was Prime Minister. Find how long
John Diefenbaker was Prime Minister by solving the equation 2y + 3 = 15.

2y +3=15

Sentence:
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2.11 Solving Equations With Variables on Both Side

Practice
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2. Solve.

Example: Solve 5x=—16 + 3x.

E=3x] =34 both sides.

Divide both 2x _ —16
sides by 2, 21" 2
x=-8

o

a) 7y=20+3y b) 125 =36 + 65
\dd —3y to-
Divide both
sides by 4,

©) 2x=-30+5x d) 4n=3.6—2n
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3. Solve.

a) Sx +4=4x+7
dd —4xto
both sides.

b)3m+2=m+4

dd —4to
both sides.

o 9t +4=5-8 d) 45—2=25+10 e 3y —5=-2y+10
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4. Solve.

a) 5y —4x=-x+6 b)3y+y=2y—8
~
x=-x+6 S
e bhsin >

o 5a-3a=6-a d) 6s + 45 =20 + 55 e) 7x—4x=x-10
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5. Solve.
a) 2x+10=9+1-3x b)3s+5=4+5+5s
~

2x+10= —-3x

\dd 3x to both sides.
dd —10 to both sides,
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Problems and Applications

6. Bill has x baseball cards. Abbas has 4 baseball cards. The number of cards Abbas has is
equal to the number of cards Bill has plus 60.
Solve the equation 4x = x + 60 to find the number of cards Bill has.

Bove 3 dx=x + 60

7. Marlene scored y ringette goals. Lynn scored 3y goals. The number of goals Marlene
scored equals the number of goals Lynn scored minus 12.

Solve the equation y = 3y —12 to find how many goals Marlene scored.
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2.12 The Distributive Property

Practice
1. Expand.
[Example: a) 5(x +1) b) 3x —2) o 4x+2)
Expand 4(x + 6). o
T¥o) =5 )+5( )
= 4(x) + 4(6)
=4x+24 st

d) 2(x - 3) o 7x-1) H 5(+3) 8 10(x +2)
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2. Expand.

[Example:
Expand 6(3x + 2).
<~
6(3x +2)
= 6(3x) + 6(2)
=18x +12

a) 2(3x +2) b) 3Bx +1) o 5(2x +1)

d) 4(2x + 3) ) 6(2x — 1) ) 53x-2) 8 7(2x+1)

3. Expand.
a) —2(3x +1) b) —4(2x +1) o -2(5x-2)
P
-2Bx+1)
= —2(3%) + (~2)(1)

=+ ()

d) -3(3x—2) e) —4(2x—1) f) —2(5x - 3)
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4. Expand.

a) —2(3x —2y) b) —3(5x + 3y) o —4(5x + 2y)
<~
—-2(3x ~ 2y)
= -2(3%) —2(-2y)
=— 4+
4 -@2x+y) e —5(-x+y) H ~7(x - 3y)
5. Expand.
a) —4(2x +3y + 2) b) 3(5x — 2y +2) O 6(—x + 3y +4)
AN
—4Qx + 3y + 2)

= —4(2x) —4(3y) —4(z)
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6. Expand and simplify.
a) d(y - 3) +2(y + 4) b) 3(2x - 5) +32x + 1)

=4(y) — 43) + 2(y) + 2(4)

e e

=[Jy+[ Jv- + Rewrite
e
Q 4x+7)-(Bx+2) d) 3(2x —3) — 3(2x — 5)

4@7) - 1@2)
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Problems and Applications
7. Expand.
a) 3(x2 + 4x - 3) b) 20322 + 7x — 3) O 422 — 1) +3(42 + 4)

AN
362+ dx — 3)
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8. For each large rectangle, state
i) the length and width, and

a) x

3

ii) the area in expanded form.

b) y 2

length =
width =

Area=€ X w
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2X+2=8
What is X?

X=3
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2.13 Solving Equations With Brackets

Practice

1. Solve.
Example:
Solve 2(3x — 4) = 10.
<~
2(3x - 4) =10 @
2(3x) — 2(4)=10
6x—8=10 € Multiply >
B= T8l <Add 6 1o both sides,>
6x=18
6x_18
W
x=3
a) 2x+1)=4 b) 2x-3)=2 0 3(x+1)=6
<~
20x+1)=4
2x + =4
dd 25
both side,
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d) 2(x +3)=—6 e 3(x+2)=-9 f) 2(x+5)=—4
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2. Solve and check.
a) 2(3x +4)=14 b) 23x - 2)=14

<~
2Bx+4) =14

x+ =14

Add -8,

RS.=14

1.5, =2(3x+ 4)

+4)

=2(3x
s
=2_+4)

.
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o 3(x+5)=18 d) 32x +3)=-3
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3. Solve and check.
a) 2(x+3)-3=5

~
2(x+3)—-3=5

[x+()-3=5

Does L.9. = R.SF

Divide by 2.
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b) 3(x+1)-10=2

) 4x—3)+6=6
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Problems and Applications

4. The equation 5(x + 1) = 20 represents the area
of the rectangle.

Area=20

a) Solve the equalion. b) Find the rectangle’s width.

Sentence: The width of the rectangle is

width=x+1

=L J+1

units.

5. The equation 2(x + 3) + 2(2x — 1) = 10 represents the perimeter of the following

rectangle.

a) Solve the equation.
S~ <
B 26+ 3) + 22x - 1)=10

x+3

x+1

2%-1
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b) Find the rectangle’s length and width.

width=2x -1

2x -1

Sentence:
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2.14 Solving Equations With Fractions and Decimals
Practice
1. Solve.

a) x+02=08 b)y—-05=12 ¢ s+12=15

x+02= 08 Add
£02] = £0.2

== 1]

d) t+45=-30 e) m+52=22 f) n+46=-23
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2. Solve.

2) 0.3r=03 b) 05y=-5 o 12m=-36
03 _ 03
@ 03 "3
x=
d 03n=12

e) 20n=48 £ Lls=—44
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3. Solve and check.
a) 3x—04=08
3x—04= 08

€Aa057+ F0A-F
3x

CHECK:

R5.=08

L5.=3x— 0.4

=3x -04

= -04
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b) 4y +08=12

c) 125 +36=48
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4. Solve and check.

x_1 ¥y_1
@i, G
x 1 W=

@5 =[xy

N
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5. Solve and check.

2 Y=

;

w e

+1

Y _gx¥
Exz _]E]x3+|§|><1

y=

y+

Does LS. =R5.7
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Problems and Applications

6. The mass of a raccoon is about 1 kg more than % of the mass of a coyote.

The mass of a raccoon is 10 kg. To find the mass of a coyote, solve the equation.

m
Z+1—10,

Sentence:
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Review

1. Evaluate 3x + 2y for the following values of the variables.

a) x=1,y=3 b) x=4,y=2
3x+2y

=3x +2% Substitute
~= ~—

e

= Add

o x=7,y=2 d) x=—4,y=0
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f) x=3,y
e x=-2,y=-1 x




